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The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 FYI IS H FA [IGT & BT 7 TEcT, JoT F BHIH AT @)

Before beginning to answer a question, its Serial Number must be written.
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Don't leave blank page/pages in your answer-book.
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FTCGRTH % GIIRFT & o e 7a A o SeRTEagar & ki@ i frar
F7T T HC)
Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
TR ST T To FOT-YH T 5739 [rd)
Candidates must write their Roll Number on the question paper.

YA FF H FAT 37 G [@ 98 GARTT FW A F T 7 T T8 &, g0 &
FYUT 59 T § 25 o qar @hEre 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T 3T -

General Instructions :

(i) & Fo7 Siard &
All questions are compulsory.
(ii) TGS F97 % Tel [q%eq [ad)
Write the correct option in objective type questions.
(iii) & T T T 7 SfaRE [AET FT T 8
Internal choice has been provided in long answer type questions.
(iv) J9% F97 & 3% IG% A7 T9N9 T &

Marks of each question are indicated against it.
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(3) 3505/(Set : A)

guE - A
SECTION - A [ Marks : 20
(e fom)
(Physics)
1. -3ftc 3w 7 78f fem < ¥ - 1
(A) T T
(B) Fie I ey
(C) faf= 1 &t axge
(D) 3T & Hi§ TeI

In Hypermetropia, a person is not able to see :
(A) Distant objects

(B) Nearby objects

(C) Objects of different colors

(D) None of these

2. Uiy U1 YA & 99 QU T I6D. AHIE & AHA FH TRH A BN H

J& HROT HH -0 & THI B oot 2 1
(A)  TE (B) 7T
(C) SebIoi (D) 3™ § ®iE T
At the time of sunrise and sun-set, the cause of reddening of sun & its
surroundings is due to the ............. of short wave length of light.
(A) Reflection (B) Refraction
(C) Scattering (D) None of these
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(4) 3505/(Set : A)
3. g ool & Aaie A T fhlare e (1 kWh) & 4 @
1

(A) 3.6 x 10° giC §&vs

(B) 3.6 x 10°

(©) (A) T (B) A

(D) & & HiE T

Commercial unit of electrical energy one kilowatt hr. (1kWh) is
equivalent to :

(A) 3.6x 10° Watt second

(B) 3.6x10°J

(C) Both (A) and (B)

(D) None of these

4. Tl ot e STaT EETE ST § A ol 1
(A) @ Sl 8 (B) g€ SR 3
(C) ofafdd w&h B (D) &8 | B &

In any physical or chemical process, the total energy :
(A) increases (B) decreases

(C) remain unchanged (D) none of these

5. ol & oS o F &1 T 8 § 7 2

What are the properties of a good source of Energy ?

6. U fagd o foreeh Uil 20 Q § 1 Uh 8 Q WY H =h 8 V H S 4
ol o9 & A © 2
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(@) URYY N FA Ty Fe

(b) uRtuy § yerfed fgd amq & aReEa Hifsa

A lamp of resistance 20 Q and a conductor of resistance 8 Q are

connected with a battery of 8 V in series. Calculate the :
(a) total resistance in the circuit
(b) current flowing through the circuit

7. O QR H TEM & U AN 5ER & RS Awd d 1 o@sd g onm
2

FH WM (Reduce), I THT (Recycle) X TT: IWAM (Reuse)l “FH ITAT”
H IO fIER @ B

You must have come across the three 'R's to save the environment :
Reduce, Recycle and Reuse. Explain Reduce in detail.

8. (a) 9 F AT M A & ? fhAl AW P UH SEEL (1D) HHA P GRA™T
eIl Lef 2

What is power of a Lens ? Define one Dioptre (1D) power of a lens.

(b) s I AT U b Tl F& () W Reod 21 I a€] $ e @ R,
IES IR e NG R CERCEIES 2

An object is situated at the centre of curvature (c) of a Concave
Mirror. Make a ray diagram of the position, size and nature of the

image of that object.

9. UH UAEd g &R (a. c.) S & fsid, @01 Jon FEfEE & faega ao
T 6
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(6) 3505/(Set : A)
Explain in detail, the principle, construction and working of an

alternating current (a.c.) generator, in detail.

AYqT
OR

(a) fHEl B8 guo & AR AR YDA & @A S FRG Hiow
2

Draw the magnetic lines of force around a bar magnet.

(b) URFICRRT & SMUH F AHE & ? UF URAeR § Faed fOEM 4R @
T G & B ARG HIOT IRATRN & ST W Al G ST

What is a Solenoid ? Draw the magnetic lines of force around a

current carrying solenoid. Also throw some light on the use of

solenoid.
gig - §
SECTION-B [Marks : 19
(e fas)
(Chemistry)
10. 999 =1 & ¥ o5 gem @t eifdtiorar & 7 1
(A)  FeHEY (B) HSATSNS
(C) &Aw=aT (D) STaETI

What type of reaction Respiration is ?
(A) Exothermic (B) Endothermic

(C) Reduction (D) Precipitation
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11. S HI IR FH S T 1 & § fhg iy T SW@T &ar 2 7 1

(A) Temfes (yieifae) (B) wHaeie (err)
(C) UM (D) ddRfes (i)

Which one of the following medicine is used for treating Indigestion ?

(A) Antibiotic (B) Analgesic

(C) Antacid (D) Antiseptic

12. =1 4 § o d & & $9 & T a1 sogge 4 QRAE P
(A) BRGEH (H) (B) R, (B)
(C) @i (He) (D) M (Ne)
Which of the following elements has two shells, both of which are
completely filled with electrons ?
(A) Hydrogen (H) (B) Boron (B)

(C) Helium (He) (D) Neon (Ne)

13. Foer e & R S TR Ee R ;2

SR FiES + TR dche —> IREH dche +
S (LIS EC NESINES
Write the balanced chemical equation for the following reaction :

Barium chloride + Aluminium sulphate
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— Barium sulphate + Aluminium chloride

14. STERT S &g ® o i el Sl Siih aw od ofdl § ! 2

Why does distilled water not conduct electricity, whereas rain water

does ?

15. U=Sol% &l e ARON & IYERT B (el del & fFEs & g Hl AgEH
E€||S|Q : 2
K, C, AL, Si
Use Mendeleef's Periodic Table to predict-the formulae for the oxides of

the following elements :

K, C, AL Si

16. €G3l & T § 1 %l AT ST 1x4=4

Explain the following in context of metals :

(i) ST
Malleability

(ii) T
Ductility

(iii) S wd fagd & gerasw
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Conductor of heat and electricity
(iv) i

Sonorous

17. (a) OSfFPERS q T F 9 & 7 UOE O UdNiEe ofd # uRadw @l
aiferefieRoT AR /T Fed B 7 3E% [T e gEemr | dfm 3

What do you mean by Oxidizing agent ? Why is conversion of
ethanol to ethanoic acid an oxidation reaction ? Give chemical

reaction also.

(b) TchIRl Uh TS Fo &l femeir s 2
Alcohol is a clean fuel. Comment.

(c) S & HiF-w yebrics, GHE 8 7 1

Name the functional group present in Butanone.

S7epar
OR
(@) UANEH T @ = & Gy AffE & o TEmte e dfT : 1 x
4=4
i) NaOH
(i) Na2COs
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(10) 3505/(Set : A)
(iii) NaHCOs
(iv) CHsCH>OH 37 %l 3urdfd

Give chemical equation for the reaction of ethanoic acid with

following :

(i) NaOH

(ii) Na2CO3

(iiij NaHCOs

(iv) CHs3CH20OH in the presence of acid

(b) = & q B9 q eEgiwEy doan. o 3 72
Cy,Hg,C3Hg,C3Hg,CoH,y
Which of the following hydrocarbons undergo addition reaction ?

CyHg,C3Hg, C3Heg, CoHy

gvs —q
SECTION-C [ Marks : 21

(st o)

(Life Science)

18. frfaRad ® & HH-91 Ui IR 787 & ° 1
(A) ad (B) dwE

(C) @ (D) ©q
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Which of the following is not a natural Ecosystem ?
(A) Forest (B) Pond

(C) Lake (D) Crop field

19. THIRY V& forg fr=ifoiaa & 4 fFad #a-& = =iy e Sar & 2
(A) Sfeares (B) AN

(C) e (D) T8 & &I T

Copper T is placed in which of the following to prevent the pregnancy ?
(A) Oviduct (B) Vagina

(C) Cervix (D) None of these

20. fr=fciigd & 9 HIF-91 U9THRAS: B AW Fg e ¢ A

(A) d= (B) Azl
() SFARTH (D) &1 & HE el
Which of the following is not the part of hind brain ?
(A) Pons (B) Medulla
(C) Cerebellum (D) None of these
21. UfEfE o=t & F1 FH B 7 1

What are the functions of Abscisic acid ?
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(12) 3505/(Set : A)
22. @Yl A% e § FHied S @ T8 w1 ... Folt # S8 39 &l 1

The autotrophs capture the energy present in sunlight and convert it

23. g § FMO=9 & usEd 89 a dRadel & ar § e 2

Write about the changes occur after fertilization in plants.

24. Y= el ¥ fJgsy A & IR § fafau 2

Write about the process of fission in various organisms.

25. gy dfe o fhd e © ? 59 [ A e 2

What is peripheral nervous system ? Write its various parts.

26. HEd & TN R &4 Ul Il (S eor Hrel oTefar oerd B B 7 4

How do Mendel's experiments show that traits may be dominant or

recessive ?

27. (a) WM T&T P HaIHE HIC 99 B Ml [ S¥EY 3

Draw a well labelled diagram of schematic sectional view of

Human Heart.
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(13) 3505/(Set
(b) &Fl qer RRT # o= T FHif 3

Differentiate between Artery and Vein.

OR

Sl & i Al wdl ) R @ avl i

Describe various pathways of glucose breakdown in organisms.
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